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@M 4. J1A1%1M(spurious regression)
- 7} E)F T Granger and Newbolde]l 2|3 Al7|%) Aoz oW AlA|De] HE X 34
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T B2R HeaAdels g oz Rz E AP E F Al EURAILeH ME AR
31%% Coefficients:

Estimate std. Error t wvalue Pri=|t|)
{(Intercept) 3.68382 0. 36916 9.979 = 2e-1f wuw

X 0.21456 0.05556 3.862 0.000127 #w=
}f o lf—l_“? signif. codes: 0 “##%' 0,001 ‘*=' 0.01 **’ 0.03 “.' 0.1 * ' 1
e -
;lt ;Ef—-l__ Ut Residual standard error: 4.788 on 498 degrees of freedom

Multiple R-squared: 0.02908, adjusted R-squared: 0.02713
F-statistic: 14.92 on 1 and 498 DF, p-value: 0.0001273
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Coefficients:

Estimate std. Error t wvalue Pri=|t]|)
{Intercept) -0.05499 0.07518 -0.731 0. 465
x1 Q. 05903 0.06317 0.934 a.351

Residual standard error: 1.674 on 498 degrees of freedom
-0.0002541

Multiple rR-squared: 0.00175, Adjusted rR-squared:

F-statistic: 0.8732 on 1 and 498 DF, p-value: 0.3505
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&P::(Q_].)J}i_l‘l‘ S ‘s’jﬁ}}:_j‘l‘erl E:’“"l‘:,l‘:,ﬂf @ -> k= o]&
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Probability of a Smaller Valu

kel A =)e] ol ) Sample Size -—
L‘—r] e = D—F] n;“ ] n 0.01 0025 0.05 010 0.90 0.95
Fol 3 & 0.1 0.05 o ;
25 2.66 2.26 195 —1.60 0.92 1.33
ar T T T -
EE37] i Ty Tr L * 50 —262 -225 195 —161 091 131
25 -1.B0 -2 .63 -3.24 -1.895 -3.00 -3.B60 100 260 124 195 1.6 0.90 129
5O -1.61 -Z B0 -3,18 -1.,85 -2.,93 -3,.50 250 -258 -223 -195 —-162 089 129
500 2.58 2.23 -195 <162 0.89 1.28
100 -1.61 ~2.58 ~3.15 1.95 ~2.89 3,45 = -258 -2.23 195 —162 089 128
Z50 -1,B2 -2 57 -3.13 -1.95 -Z.89 -3.43
- - - -1.,95 -2.87 -3, 42 n
200 1.62 2.57 3.13 . 25 3,75 333 300 -263 037 000
50 3.58 122 203 2.60 040 —003
100 351 117 289 258 042 =005
250 - 346 114 288 2,57 042 —-0.06
500 344 33 -287 257 -043 -0.07
0 343 112 - 2.86 257 -044 -007
T,
25 438 195 160 1.24 114 =080
50 4.15 1.80 3.50 318 L1 087
100 404 -373  S345,)-305 —122 -090
250 -399 -3.469 343 =313 123 -092
500 -3.98 1.68 342 =313 1.2 —-093
% -3.96 166 —34) 312 -125 -094

Table 8.5.2.  Empirical cumulative distribution of 7 for p=|

0975

1.70
1.66
1.64
1.63
1.62

1.62

0.34
0.29
0.26
0.24
0.24

0.23

0.50
0.58
-0.62
—{.64
0.65
- 0.66

2.16
208
2.03
2.01
2.4

200

0.72
1) 66
063
.62
06l

0.60

0mis

024

0.3)

This table was constructed by David A. Dickey using the Monte Carlo method
Derails are given in Dickey (1975). Standard errors of the estimates vary, but most are

less than 0.02



@)
(3) DF 2 &: &S EA Atdl

(case 1)

— k

Aye= B1+Bot+ Ty 1+ Ximq ViAYejt Ugg

Call:

Im{formula = z.diff ~ z.lag.1 + 1 + tt + z.diff.Tlag)

"Hy:m=0— 1.(13) AIS
Residuals:

Min 1q Median 3Q Max

-0.044714 -0,006525 0.000129 0.006225 0.04533533

Coefficients:
Estimate std. Error © wvalue Pri=|t|)

(Intercept) 0.7976591 0.354777 2.248 0.0270 *
z.lag.1 -0.0758706 0.0338880 -2.239 0.0277 =

Test Statistic 1% 5% 10% Tt 0.0004915 0.0002159 2.277  0.0252 *
z.diff.lagl -0.1063957 0.1006744 -1.057 0.2934

T3 —2.24 —4.04 —3.45 —3.15 z.diff.lag2 0.2011373 0.1012373 1.987 0.0500 .

O3 260 873 649 547 signif. codes: 0 ‘“#¥%¥' 0,001 ‘®**' 0.01 ‘*’ 0.05 ‘.' 0.1 ° ' 1

Residual standard error: 0.01307 on 89 degrees of freedom
Multiple R-squared: 0.1472, Adjusted rR-squared: 0.09924
F-statistic: 3.071 on 5 and 89 DF, p-value: 0.01323

Value of test-statistic is: -2.23B9 3.73B2 2.5072

Critical values for test statistics:
lpct 5Spct 10pct

Tauw3d -4.04 -3.45 -3.15

phiz 6.530 4.88 4.16

phi3 8.73 6.4% 5.47



(case 2)
Ay= Bty 1t Z;{=1 YiAye—jt Uyt

“Hy: 1T=0—’T”(T2) AHE

Test Statistic 1% 5% 10%

T2 —0.09 —3.51 —2.89 —-2.58
™ 288 6.70 4.71 3.86

Call:
Tm{formula = z.diff ~ z.lag.1 + 1 + z.diff.lag)

Residuals:
Min 10 Median 3q Max
-0.047547 -0, 007071 0.000265 0.007731 0O.046880

Coefficients:
Estimate std. Error t wvalue Pri=|t])

{(Intercept) ©.0123237 0.0851358 0.1453 0. 8852

z.lag.1 -0. 0007356 0.0079043 -0.093 0.9261

z.diff.Tagl -0.1433015 0.1016454 -1.410 0.1620

z.diff.lagz 0.16153256 0.1020242 1.583 0.1169

z.diff.lag3 0.2383280 0.1027364 2.516 0.0136 =

Signif. codes: © "##=' 0,001 "**' 0.01 **' 0.05 "." 0.1 * "1

Residual standard error: 0.01337 on 90 degrees of freedom
Multiple rR-squared: 0.09747, adjusted R-squared: 0.03735
F-statistic: 2.43 on 4 and 90 DF, p-value: 0.03333

value of test-statistic is: -0.0931 2. 8806

Critical values for test statistics:
lpct  5Spct 1lopct

tauv? -3.531 -2.89 -2.58

phil 6.70 4.71 3.88
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(case 3)

Ays= Ty 4+ Z?=1 Yidye—jt Uy

“Hy:m=0—1(10) Al

=

o

Call:
Tm{formula = z.diff ~ z.lag.1 - 1 + z.diff.lag)

Residuals:
Min 10 Median 3q Max
-0, 047220 -0.007276 0.000229 0.007674 0.0456921

Coefficients:
Estimate std. Error Tt value Pr(=|t]|)

z.lag.1 0.0004083 0.0001695 2.409 0.0180 =
z.diff.Tagl -0.144499%4 0.1007615 -1.434 0.1550

z.diff.lag2z 0.1599782 0.1009153 1.585 .1164

z.diff.lag3? 0.2368372 0.1015353 2.530 ¢.0131 *

Signif. codes: @ "##*' 0,001 “®*' 0.01 **' 0.05 "." 0.1 ° "1

Residual standard error: 0.0133 on 91 degrees of freedom
Multiple R-squared: 0.2546, Adjusted rR-squared: 0.2218
F-statistic: 7.77 on 4 and 91 DF, p-value: 1.%67e-05

Value of test-statistic is: 2.4089
Critical values for test statistics:

lpct Spct 10pct
taul -2.6 -1.95 -1.61



6. 22 Z(Cointegration)
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value of test-statistic is: -0.9983 1.688

Critical values for test statistics:
lpct Spct 1dpct

tauz -3.51 -2.89 -2.58

phil 6.70 4.71 3.86

value of test-statistic is: -0.118%

critical values for test statistics:
lpct Spct 1lopct

tauvl -2.6 -1.95 -1.61

vValue of test-statistic is: -1.525%4

Critical values for test statistics:

lpct  Spct 1dpct
taul -2.6 -1.95 -1.61

value of test-statistic is: -1.3572

Critical values for test statistics:

lpct S5Spct 10pct
taud -3.51 -2.89 -2.58
phil 6.70 4.71 3.88

value of test-statistic is: -1.52%4

critical values for test statistics:

lpct  Spct 1lopct
taul -2.6 -1.95 -1.61

2.5197



